
СОКОВЫЖИМАЛКА HURAKAN HKN-SPM

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

SPM 

1 



СОКОВЫЖИМАЛКА HURAKAN HKN-SPM

 

 

Поз Наименование детали

1 Rubber feet 
2 Screw M3X12 
3 Bottom under base 
4 Power cord 
5 Capacitor 
6 Over Current protector 
7 Scvrew M4X14 
8 Motor 
9 Screw M4X8 

10 Housing 
11 Switch 
12 Bottom upper base 
13 Fixed plate 
14 Screw M4X12 
15 Tray 
16 Oil seal 
17 Rotation shaft 
18 Damping ring 
19 Bowl 
20 Pip filter 
21 Cone L 
21 Cone M 
21 Cone S 

 

 

 

 

 

 

 

 

 

 

 

SPM 

2 

Наименование детали 


